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ADDITIONAL MATERIALS

A calculator will be required for this paper.
Acruler, a protractor and a pair of compasses may be required.

INSTRUCTIONS TO CANDIDATES

Use black ink or black ball-pcint pen. Do not use gel pen or
correction fluid.

You may use a pencil for graphs and diagrams only.

Write your name, centre number and candidate number in
the spaces at the top of this page.

Answer all the questions in the spaces provided.

If you run out of space, use the continuation page at the
back of the booklet, taking care to number the question(s)
correctly.

Take 7 as 3-14 or use the 7 button on your calculator.

INFORMATION FOR CANDIDATES

You should give details of your method of solution when
appropriate.

Unless stated, diagrams are not drawn to scale.

Scale drawing solutions will not be acceptable where you
are asked to calculate.

The number of marks is given in brackets at the end of each
question or part-question.

In guestion 10, the assessment will take into account the
quality of your linguistic and mathematical organisation,
communication and accuracy in writing.
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Calculate 39% of £576.

[2]

Calculate %— of 100.

Give your answer correct to the nearest whole number.

{e)

What fraction is equal to 50% of %?

N | = |

ek B oL =N

gl

© 3

Circle the fraction that is a recurring decimal.
2 10 ) 17 15
35 12 68 24

[1]

51
170

LT
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Examiner
[
2. Circle either TRUE or FALSE for each of the following statements. i3] o

A triangle with cne angle equal to 70° could be an e, )

: . TRUE FALSE
equilateral triangle. |} pust be 60° &/J
A triangle with one angle equal to 70° could be an i
isosceles triangle. & 10, “LJ, +o TRUE FALSE
A triangle with one angle equal to 70° ould be a iy
right-angled triangle. 7O QO 20 TRUE/ FALSE
An isosceles triangle could have one of its angles 'fTF;’;JfE EALSE
equal to 105°. =° B =© b

@ 15, 315,375
A right-angled trlangle could have one of its angies Vi o
equal to 105°. 5?0 IOS > IR0 TRUE %LSE)
on heir own |
without 3cd Mj
laest
P fimeE
3. Calculate the answer when, C
‘the largest prime number that is a factor of 28’ l 7'5‘?} Z iq’l LFJ W
is multiplied by /*-\‘
'the smallest prime number that is factor of 15" li IS/U [2]

I
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4. The diagram below shows gvﬁzj;[p_e_i_'_machine. | _" «%
5 & 3 = 30
INPUT  b—s] ADD L MULTIPLY ¢ OUTPUT
7 BY 3
Using the number machine, calculate:
(a) the INPUT when the CUTPUT is 36, 1

5. Write down three integers, all less than 25, whose
* rangeis 8, and

*  mean is13.———=’—-—w [2]
.. T T S P

The three integers are S and

L
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6. (a

Examiner
Write down the first three terms of the sequence whose nth term is given by 2n — 5.
n o

[2] only
............................................................ O £ 1.

The first three terms are ""3 . "i and I
(b)

Write down an expression for the nth term of the following sequence. i2]
T 11, 15, 19,

T
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7. Adiceis thrown 50 times.
The number shown on the dice is recorded after each throw.
The table below shows the resulis recorded.

Number shown

on dice

Frequency 9 7 8 7 6 13

(a)

The relative frequency of throwing a 1 was calculated as 9 018.

50

What was the relative frequency of throwing a 67
Give your answer as a decimal. M

W T T I

The number 4 was thrown 7 times in the first 50 throws.
Using this fact, calculate how many times you would expect a 4 to be thrown when this
dice is thrown 3000 times. 2]

]@OOH’Y@‘U}S ............ jll.{.(_‘;h-f""*ffﬁ
...................... gwc}hrwgazzchmm

P . Wy B

How many times would you expect a 4 to be thrown when a fair dice is thrown 3000
times? [2]

(T
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8. ABCDE is aregular pentagon with centre O.

Diagram not drawn to scale

Calculate the size of angle x.
You must show all your working. i4]

L
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9. Look at the diagram below. e

The expression in each circle is found by adding the expressions in the rectangles on either
side of the circle.

Complete the diagram by writing expressions in the blank circles and the blank rectangle.

You must simplify your expressions. [3]

Ix+y x+4y

B+ 5%

33000401
[*h:]

5.1 +2Lj 4x -y

oL o Ty o= o= OO

L
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Examiner
|
10. In this question, you will be assessed on the quality of your organisation, communication and =
accuracy in writing.
ABCF is a rectangle.
CDEF is a trapezium.
BD is a straight line.
E 3cm D,
g 1 c
. /!\ 9cm
> LY
A B
7cm
Diagram not drawn fo scale

AB=7cm, BD = 9cm and DE = 3cm. ‘
The perimeter of rectangle ABCF is 24 cm.
Calculate the area of the trapezium CDEF.
You must show all your working. [4+20OCW]
.......... H.e.c._fangle P=2lcm
................................................................................................... .. S.and 5 o awve R4
e S0 LSE. 500 BC = D0M

L
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11. (@) Calculate \/ 8-5% + (4-5 — 0-76)2, correct to 3 significant figures. [2]

O F UT@.I.L;.:.{Q\.S ..... .3 .3...q.gq.@) .................................... N e T
o I & . dyad } -
................................... B o G i DI B [ osmgrmimsramen
v-6281% 251 b3S fig

P

2

(b) Calculate the reciprocal of —0-07, correct to 1 decimal place. 2]

0O e = AR S e —

12. Show that the triangle below is not a right-angled triangle. [5]

“B-2F (2x + 1)/

Diagram not drawn fo scale

Examiner
only

|
Q.
o~

L s, Nof righf-angled
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[
13. A solution to the equation o

x3-2x-45=0
lies between 3 and 4.

Use the method of trial and improvement to find this solution correct to 1 decimal place.
You must show all your working. [4]

ﬁueSS;L:BS .

...... J oo LM = 35 2(35)-45 = —9-135 10,
{ l' | SMala
‘eF - O

L
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14. Aright-angled triangle L MN is shown below.
LN =16-9cm and LM = 6-5¢cm.

L

2 16-9cm

g
-

6-5cm

b

Diagram not drawn to scale

Calculate the length M.

o~
Q
n
i
@)
‘s}
e
i
2.

AV
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15. Construct an accurate drawing of triangle ABC, where AB=7 cm, A@C =90° and B:!l\C =60° |
Use only a ruler and a pair of compasses.
The side AB has been drawn for you.
You must show your construction arcs. [3]

O

/

x

A y ( B

W




15

R

25
SOHCAH TOA b

Diagram not drawn fo scale

16. Calculate the length of the side QR in the triangle PQR shown below.

L
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17. 100 boxes each contain 10 balls.

45 of the boxes are labelled A.
They each contain 7 black balls and 3 white balls.

25 of the boxes are labelled B.
They each contain 4 black balls and 6 white balls.

The rest of the boxes are labelled C.
They each contain 8 black balls and 2 white balis.

(a) Complete the tree diagram shown below. 1
Choice of box Choice of balls
07 Black
A
03 White
0-4 Black
B
0-6 White
0-8 Black
Cc
0-2 White
(b) What is the probability that a player will select a black ball? [3]

Pl A and Bladk OR Cbmd%lac.[f. o] C and @lac@

In a game, a player chooses a box at random, and then chooses a ball at random from that box.

L
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(¢) If alarge number of people played the game, approximately what fraction of them would
you expect to choose a white ball?

Circle your answer. _ [1]
1 1 1 1M 1
10 4

5 3 2
P(wh:?e):CBLpS([—-c@SS)
B A s pgna . abeeh o

3 closes

18. (a) Factorise x3 — 5x. 3 1
____________________________________ R o Bt SO e P
(6) Expand and simplify 2x—3)(x + 4). 2]

= A +8x -3x - |2

T
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19. (a) Circle the equation of a straight line that is parallel to the line 3y = 2x + 6. 1]
y= 2x + A
|
"3@ 2y=3x+6 Jy=-2x+6 —3y=2x+6 2y=-3x+6

=2fx t U
¥ ° loH’\ have ?fddf-eﬂ}' OF

Sque/ oo@ Hﬂe same . te. ﬂafa//é

(b) Circle the equation of a straight line that is perpendicular to the iine/y T Bage— 3\ ]
Slope =5)

y—’c+3 y=5x+3 y=5x+ y==5x+3 (yE£=+3

1 [t

.......... ﬁ.ﬂ_npafper’tc[m(ar [nes e af %

J[opels
TEST is - Sx(_s.):»} ke

20. Points A, B and C lie on the circumference of a circle, centre O.
ACB = 37°,

B

Diagram not drawn to scale

Calculate the size of the reflex angle 40B.

L
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Examiner

21. The area of triangle ABD, shown in the diagram below, is 35cm?2. .

AD=5¢cm and BC=32cm.
Dis en the line AC, and BD is perpendicular to AC.

C

Diagram not drawn to scale

Calculate the size of angle x.
You must show all your working. (5]

END OF PAPER

T
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